Answers

1) 100g, 89, 25kg
2)

Each interval Each interval Each interval

is worth is worth is worth
Gkg Skg $00g
1) The second set.
2) Accept any explanation that shows that Ali is incorrect as the mass is 850g.
1) 4 eggs = 3009. 3009 + 4 = 75. | eqq weighs 75g.
3259 - 759 = 2509. 250 + 10 = 2. One biscuit weighs 25g.

3x25=7S8g. 2759 - 759 = 2009. The chocolate weighs 200g. 7

2) Sbars
lkg = 1000g. 1000 = 200 = S. If one bar of chocolate has a mass of 2009, you would need five bars to have a mass of 1000g.

3) Accept any correct combinations, such as 4 eggs, 3 bars of chocolate and 4 biscuits.
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